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7R18|mIT BRI IR 9.93 0.06 0.03 B450 7A18 B450 0.06
TR1B|#rBHEE BAEIR BRI 8.47 0.05 0.02 B450
TR1B |#rBHEE BAIR BRI 8.46 0.05 0.02 B450
TR1B |#rBHEE BAIR BRI 9.06 0.04 0.03 B450
TR18|/\#H [FLCA IR 8.89 0.06 0.02 B450
TA1E |#EEEE ElE & R 10.02 0.04 0.02 B450
TR1B|4AT™ k(479 5174 10.78 0.09 0.03 B450
A28 |#oBHEE BAIR REK 8.70 0.06 0.02 B460 7H28 B460 0.05
A28 |#rBHEE BAIR RBEK 8.79 0.05 0.02 B460
7R38(mI™ BRI IR 10.03 0.05 0.03 B460 7A38 B460 0.05
7R3B(BEEH™ IR BRI IR 10.20 0.05 0.03 B460
7A38 |#THEE—) [FLCA (FREKEE ) R 9.74 0.04 0.02 B460
7A3H|EE4AE 5N IR R 10.13 0.12 0.03 B460
TA3R |SLBTEZ=E) BAIR BER 8.06 0.07 0.02 B460
TR4B|IIFBHEE AL TR R KR 9.54 0.04 0.03 Y460 7848 Y460 0.07
7R4B(|mIIT™ BRI IR 9.87 0.06 0.03 Y460
TH4B |#oBHEE BAIR BRI 10.05 0.06 0.03 Y460
TH48 |#oBHEE BAIR BRI 9.48 0.05 0.03 Y460
TAR4B |EE4AE 5N IR R 10.13 0.17 0.03 Y460
TH4E |[E#HEE IR R 11.92 0.09 0.04 Y460
7RA58(|mIT BRI IR 9.84 0.05 0.03 Z460 7A58 Z460 0.07
1A58 (BEE™ IR BRI IR 10.23 0.05 0.03 7460
TASA|RFEMHS [ELCA IR 10.61 0.03 0.02 Z460
TASA|RFEMHS [ELCA IR 10.50 0.03 0.02 Z460
TASA|RFEMHS [ELCA IR 10.41 0.02 0.02 Z460
TASA|RFEMHS [ELCA IR 10.21 0.02 0.02 Z460
7A58 |EE4AE JEEN IR R 10.28 0.13 0.03 7460
7A8B(BEEH™ IR BRI IR 10.22 0.05 0.03 B460 7A8H B460 0.07
TASH|RIFEMS [ELCA IR 10.18 0.04 0.02 B460
TASH|RIFEMSE [ELCA IR 10.43 0.03 0.03 B460
TRAYB|[IFBHEE AT R IR 7.44 0.05 0.03 B460 7H98 B460 0.06
7R9B (M BRI IR 10.06 0.04 0.03 B460
7A9E |EE4AE JEEN IR R 10.06 0.13 0.03 B460
THIE RS IR R 11.85 0.07 0.04 B460
7R108 | BEHM IR BRI K 10.18 0.06 0.04 B450 7A108 B450 0.07
7R108 |y BHE BAEIR BRI 8.51 0.06 0.03 B450
7R108 |y BHE BAEIR BRI 8.45 0.06 0.03 B450
7A108 [#H(ED) N R (B L AEER) IR 9.97 0.05 0.04 B450
7A108 |RALBT(FE =) BEKR BEK 7.53 0.05 0.02 B450
TANB|REEHRE [FLCA IR 12.11 0.03 0.03 Z460 7A118 Z460 0.06
TANBE|REEHRE [FLCA IR 10.43 0.02 0.03 Z460
TANBE|REEHRE [FLCA IR 10.53 0.05 0.03 Z460
TANBE|REEHRE [FLCA IR 10.54 0.05 0.02 Z460
TANBE|REEHRE [FLCA IR 10.51 0.02 0.03 Z460
TRNB|#yBEE BAIR BRI 9.22 0.05 0.02 Z460
TRA1B|EELE 5N IR R 10.15 0.16 0.03 7460
TANE|E#HREE IR IR 11.72 0.08 0.03 7460
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7R128 |#yBHE BAEIR RBEK 9.23 0.05 0.02 B450 7A128 B450 0.06
7R168 | BRI IR 10.03 0.04 0.03 Z460 7R 168 Z460 0.05
7A16H |RFEHE [FLCA IR 10.27 0.02 0.03 Z460
7R168 |#yBEE BAEIR RBEK 9.20 0.06 0.02 7460
7A168 [#H(ED) BN R (B AEER) IR 10.07 0.06 0.04 7460
TRA (W BRI IR 9.95 0.06 0.03 Z450 7A178 Z450 0.05
TRAVTH |REEHE [FLCA IR 10.26 0.02 0.03 Z450
7A178 [#H(ED) N R (B L AEER) IR 10.01 0.06 0.04 7450
7A178 [#H(E-) [FVCA (FREKEEY) £1:374 9.47 0.04 0.02 7450
TRVB |4 AT k(479 R 11.84 0.08 0.03 Z450
TRA17B|EE4E 5N IR R 10.18 0.13 0.03 7450
7A17H |RBT(E = k) BEKR ERIR 8.45 0.09 0.02 Z450
TR1TH |E#4EE IR R 10.27 0.09 0.03 7450
7R188 | BEHIRE IR 10.03 0.05 0.03 M450 7A188 M450 0.05
7R188 |l BRI IR 9.84 0.06 0.03 M450
7R188 |y RS BAEIR BARIK 9.06 0.05 0.02 M450
7R188 |y RS BAEIR BRI 9.61 0.06 0.03 M450
7R188 |y RS BAIR BRI 9.53 0.07 0.02 M450
7R188 |y RS BAEIR BRI 9.52 0.05 0.03 M450
7A 188 [#H(ED) BN R (B L AEER) IR 9.73 0.07 0.04 M450
TA198 |REFEHE [FLCA IR 10.43 0.05 0.03 Z450 7A198 Z450 0.06
TA198 |REFEHE [FLCA IR 10.45 0.05 0.03 Z450
TA198 |RIFEHE [FLCA IR 10.40 0.04 0.02 Z450
TR198 |EE 4 5N IR R 10.10 0.15 0.03 7450
TR198 [E#4E IR R 1.7 0.06 0.03 7450
TA228 |REFEHE [FLCA IR 10.5 0.03 0.02 Z450 7H228 Z450 0.06
TA228 |REFEHE [ELCA IR 10.2 0.02 0.02 Z450
7A228 |REFEHE [FLCA IR 10.4 0.02 0.03 Z450
7R228 |y BHEE BAEIR BRI 9.2 0.08 0.03 Z450
TA228 |EE4 JEEN IR R 101 0.13 0.03 7450
TA23B|IIFIG#EE AL TR R IR 9.6 0.05 0.03 M450 7H238 M450 0.05
TA23H |REFEHE [ELCA IR 10.4 0.04 0.02 M450
TA23H |REFEHE [FLCA IR 10.1 0.03 0.02 M450
7H238 [#H(ED) N R (B L AEER) IR 9.6 0.06 0.04 M450
7H 238 [#H(E-) [FVCA (FREKEEY) ex 9.3 0.05 0.03 M450
TH23H |E#4AE IR R 11.9 0.07 0.03 M450
7R248 |y BHE BAEIR RBEK 8.7 0.05 0.03 M460 7H248 M460 0.06
7H248 [#H(ED) N R (B L AEER) IR 9.9 0.08 0.04 M460
TR248 |4 AT k(479 5174 11.6 0.08 0.03 M460
7A248 |EE 4 JEEN IR R 10.0 0.14 0.03 M460
7A248 |RALBT(R =) BEKR ERIR 8.3 0.08 0.02 M460
7RA258 | BEHM IR BRI IR 10.2 0.05 0.04 M460 7H258 M460 0.06
7A258 |EE 4 5N IR R 10.2 0.13 0.03 M460
TH25H |E#AE IR R 1.9 0.06 0.03 M460
7H26H |RFEHE [FLCA IR 10.5 0.02 0.03 L450 7H268 M450 0.05
7H26H |REFEHE [FLCA IR 10.3 0.02 0.03 L450 L450 0.07
7H26H |E#EE IR IR 11.8 0.05 0.04 M450
7A29H |RIFEHE [FLCA IR 10.4 0.03 0.03 M450 7H298 M450 0.07
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TA29B |RIBEMEE [ELCA IR 10.3 0.03 0.03 M450

TA29B |RIBEMEE [FLCA IR 10.1 0.03 0.03 M450

TA29B |RIBEMEE [FLCA IR 1.7 0.02 0.03 M450

7A298 |EE 4 5N IR R 10.2 0.10 0.03 M450

7R308 | BRI IR 9.9 0.04 0.03 L450 7A308 L450 0.06
7RA30B |REBEMEE [FLCA IR 10.3 0.04 0.03 L450

TH30H [E#4AE IR R 1.7 0.06 0.04 L450

TR B|EEHM IR BRI K 10.3 0.06 0.03 M450 7A318 M450 0.07
TAB|REBEHEE [ELCA IR 10.2 0.05 0.02 M450

TANB|REBEHEE [FLCA IR 10.3 0.05 0.02 M450

7R318|#HyBHEE BAEIR BARIK 9.8 0.05 0.02 M450

7A318 |#H(ED) N R (B L AEER) IR 9.8 0.08 0.04 M450

7A318 |#H(ED) N R (B L AEER) IR 10.0 0.05 0.04 M450

7A31H |#EEAE Bk Ik R 10.5 0.04 0.02 M450

TRA3NB|FATH k(479 R 11.6 0.09 0.03 M450

7R3 B|EELE 5N IR R 101 0.14 0.03 M450

7A318 |RLBT(E=kE) BEKR ERIR 8.0 0.09 0.02 M450

TA3H|E#HREE IR R 11.8 0.06 0.04 M450
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BREAIE S ERA BREBAIE L %8 BREBAIE R ERC
XAIELEE  1E/B (EHETHLEVA K XGBIESRRE : 11/ XAIESEE 1E/A
e S AT ] TE Rt PR ] TH . B T ] TH | Bt PR
mens | ohan | memam | em | 2a | 22 || BB omwsm BB | @gormmmy | FRE &1k ®-2Fi
7818 0.05 0.03 0.03 0.05 0.05 0.05 1811 | 1340g| ¥cs| CsET 1811 | 1340g| ¥cs| CsiEt 131 | ¥4cs|¥cs| CsEH| 31 | *4os| ¥ Cs| CsEt
7A2H 0.04 0.04 0.03 0.05 0.05 0.06 728 | ND|[ND |48 |48 | [7H2B | ND | ND|ND|ND|7H2H | ND|ND | ND| ND| ND|ND| ND| ND
7A3H 0.05 0.03 0.03 0.05 0.05 0.05 14 (12 (12| — 93 [120|140| — 11 (12 (16| — |10 |11 ]|13 ]| —
7R4H 0.05 0.04 0.03 0.05 0.05 0.05 7H98 | ND | ND | 47 | 47
7A5H 0.04 0.03 0.03 0.05 0.05 0.05 11 (14 (16| —
7A8H 0.04 0.04 0.03 0.05 0.05 0.05 78168 | ND | ND | 28 | 2.8
7A9H 0.05 0.03 0.03 0.05 0.05 0.05 11 (13 [16 | —
78108 0.04 0.03 0.03 0.05 0.05 0.05 78228 | ND | ND | 35 | 35
7R118 0.05 0.04 0.03 0.05 0.05 0.05 10 |13 [12 ]| —
78128 0.05 0.03 0.03 0.05 0.05 0.05 AR 00 |00 |00 |00
7R168 0.05 0.04 0.03 0.05 0.05 0.06 00 (00 |00 |00
7H178 0.05 0.04 0.03 0.05 0.05 0.05 MGRIESERE  RANE/BZAN
7H18H 0.05 0.03 0.03 0.05 0.05 0.05 EBETHLEVE, BIXRSG
78198 0.05 0.04 0.04 0.05 0.05 0.05
78228 0.05 0.03 0.03 0.05 0.05 0.05
78238 0.05 0.04 0.03 0.05 0.05 0.05 4B M O Bg/L]
78248| 004 0.04 0.03 0.05 0.05 0.05 gmAE | TR RETRE
7RH25H 0.05 0.04 0.04 0.05 0.05 0.05 1811 | 1340g| ¥cs| CsEt
7R268 0.05 0.03 0.03 0.05 0.05 0.05 7B3BE| ND | ND | ND | ND
7R298 0.05 0.03 0.03 0.05 0.05 0.05 09 |15 |14 | -
7A308 0.05 0.03 0.03 0.05 0.05 0.05 XIMRNRR R TIEF R
7R318 0.04 0.03 0.03 0.05 0.05 0.05




